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Numerical Finding Root

e Bisection Method

Step 3: New interval,

Step 1: Calculate the midpoint of the
interval flan)f(cn) >0

ap + bn [an—l—la bn—l—l] — [Cna bn]

2
a cn) <0
Step 2: Check if it has converged to a root flan)f(en)
within acceptable precision [ Ui, bn—l—l] _ [am Cn]

Cn —

flen)| <6, e<1 Step 4: Return to Step 1
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Numerical Finding Root

* Newton-Raphson

Step 1: The equation of the tangent
line, Step 3: Check if it has converged to a

Ly:y=flz,)+f ! (xn)(x — ) root within acceptable precision

Step 2: The tangent line intersects the x-
axis and new point, T —xn| <€, ek 1

y(zny1) =0
Step 4: Return to Step 1
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Numerical Finding Root

* Secant Step 2: The tangent line intersects the x-
axis and new point,
Y(@nt1) =0

Step 1: The equation of the tangent Tra1 = Tn — f(T0) ( Ty — Tp—1 )
line, fxn) — f(xn-1)

Ly:y=f(zxy)+m(z—x,) Step 3: Check if it has converged to a

root within acceptable precision
Ln — Ln-1

Step 4: Return to Step 1
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Numerical Finding Root

e False Position Method

Step 1: Calculate the midpoint of the

terval Step 3: New interval,

y(cn) =0 flan)f(cn) >0

b, — an, Ant1, bnt1] = [cn, bn]
=010 (75,5 ) (e <

Step 2: Check if it has converged to a root
within acceptable precision An+1, bnt1] = |an, cn]

flen)] <€, ex1 Step 4: Return to Step 1
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